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Study Gulde oo e
, Multiplying Polynomials

The following example shows how the distributive property can
be used to multiply any two polynomials.

Example 1: Find (2x — 6)(3x + 1).
F (0] 1 L
2x—6)3B3x+1)=2x-3x+2x-1+(—6)-3x+(—6)-1
=6x2+ 2x — 18x — 6
= 6x?— 16x — 6

You can also multiply polynomials vertically.

Example 2: Find (3x> — x + 1)(5x + 2).

3x?— x+1
X 5x + 2
6x2 — 2x + 2 Multiply 3x2 — x + 1 by 2.
15x® — bx? + bx Multiply 3x2 — x + 1 by 5x.

15x% + x>+ 3x + 2 Combine like terms.

Find each product.

1. (5¢ + 4)(2t — 6) 2. (bm — 3n)(4dm — 2n) 3. (a — 3b)(2a — 5b)
4, 3x — 0.1)(x + 0.1) 5. (8x + 5)(8x — 5) 6. (x +5)x + 2)

7. 2x — 4)(2x + 5) 8. y2—5y +3 9. 3b° — 262+ b

X 297 + Ty — 4 X 26 — 3
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